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QUESTION 1

Refer to the exhibit. 

A network device needs to be installed in the place of the icon labeled Network Device to accommodate a leased line
attachment to the Internet. Which network device and interface configuration meets the minimum requirements for this
installation? 

A. a router with two Ethernet interfaces 

B. a switch with two Ethernet interfaces 

C. a router with one Ethernet and one serial interface 

D. a switch with one Ethernet and one serial interface 

E. a router with one Ethernet and one modem interface 

Correct Answer: C 

Only a router can terminate a leased line attachment access circuit, and only a router can connect two different IP
networks. Here, we will need a router with two interfaces, one serial connection for the line attachment and one Ethernet
interface to connect to the switch on the LAN. 

 

QUESTION 2

Refer to the exhibit. 
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How many collision domains are shown? 

A. one 

B. two 

C. three 

D. four 

E. six 

F. twelve 

Correct Answer: B 

Hubs create single collision and broadcast domains. 

 

QUESTION 3

In the configuration of NAT, what does the keyword overload signify? 

A. When bandwidth is insufficient, some hosts will not be allowed to access network translation. 

B. The pool of IP addresses has been exhausted. 

C. Multiple internal hosts will use one IP address to access external network resources. 

D. If the number of available IP addresses is exceeded, excess traffic will use the specified address pool. 

Correct Answer: C 

 

http://evilrouters.net/2009/07/09/configuring-basic-nat-with-overloading/ 

Overloading (having multiple clients all NAT\\'d to the same IP address) is probably the most common implementation
(especially for those of us who run NAT on a Cisco box at home!). 

 

QUESTION 4
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Refer to the exhibit. 

Why did the device return this message? 

A. The command requires additional options or parameters 

B. There is no show command that starts with ru. 

C. The command is being executed from the wrong router mode. 

D. There is more than one show command that starts with the letters ru. 

Correct Answer: D 

Answer D is correct because when you type the incomplete command having more same more command same up to
types characters it shows display the ambiguous command error. 

 

QUESTION 5

If an Ethernet port on a router was assigned an IP address of 172.16.112.1/20, what is the maximum number of hosts
allowed on this subnet? 

A. 1024 

B. 2046 

C. 4094 

D. 4096 

E. 8190 

Correct Answer: C 

Each octet represents eight bits. The bits, in turn, represent (from left to right): 128, 64, 32 , 16 , 8, 4, 2, 1 Add them up
and you get 255. Add one for the all zeros option, and the total is 256. Now take away one of these for the network 

address (all zeros) and another for the broadcast address (all ones). Each octet represents 254 possible hosts. Or 254
possible networks. Unless you have subnet zero set on your network gear, in which case you could conceivably have
255. 

The CIDR addressing format (/20) tells us that 20 bits are used for the network portion, so the maximum number of
networks are 2^20 minus one if you have subnet zero enabled, or minus 2 if not. 
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You asked about the number of hosts. That will be 32 minus the number of network bits, minus two. So calculate it as
(2^(32-20))-2, or (2^12)-2 = 4094 
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